Math 9 .
Integers Introduction Lesson 1

1. Classify each of the following numbers:
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2. Write an integer to represent each of the following situations:
a) David made $100 (0O
b) The car showed down 10 km/h —\C
c) 20° below zero 7

3. Determine an integer which is opposite in sign / direction:

2)30 - ¢
b)-56 < G . \ (
¢) 50 m below sea level 5 € na croo e S‘:LL cuc
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4. Determine the integers represented by each letter on the number iine‘.
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5, Place the following integers on the number line below:

E) -2 B e - H) -4

6. Fill in the blanks with < or > in order to make the statement true:

9 b)—12_i14 S0 d) 32 > 1

7. Re-order the following integers from least to greatest.
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1. State an integer which represents the ‘opposite of...
a) a loss of $4O b) ang increase of 2%  c¢) -36 ‘ d) a drop of 5°C

Math 8
Adding and Subtracting Integers

. C\UJW L o Eadia = "(4[ ;;i_ , a0 §\_\ Ekt’%‘iff;)
2. State the least of the integers shown in each group. . -
95007 HBEEO O 01 s
d) -6, -14, -10 &) 0, -18, 34 -12 )3, -6, 14,-14, 21
iy = 9 L
3 Simplify}f | ' - ' .
a) (-3) + (-4) b) (-6) +7 c) (-10) + (-6)
o i ; —[C
d) 5e(2) | els L1 f)(11)+(7)
4 Simpry . 6 .
a) (-3) + (-4)@5) £ (2 b) 5 +(-8) + ('9)51‘;2)
_ L»{ ~—/’Q . |
- C)6+(8)+(-15) + (-3) d) (6) + (-7)=(2) + (-4)
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- 5. Simplify; ~ ‘ , -
a)4d-18 b) (-6) + 33 c) 44 + (-51)
. | - ‘
- d) (-6) + (-12) &) (B)+(-B)+11 18+ (-3)+5+(-20)
-7 -
6. Simplify: . . ,
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a)3-18 —($ b)(6)=10 =(¢ o) (-8)-11 —[

di(4)16 9 1215 90 31)—-20+18 + 50 |
) (4) . 2 L

8. Simplify
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Why Did the Snail Have an ,,m..a Painted on His VW?

Do each exercise below and find your answer in the corresponding set of answer boxes. Print the letter
of that exercise in the box oo:_”m_:_:@ the answer.
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Math9 Chapter 1—Order of Operations——Wbrksheet #1

1) 3x8-4x1+(4-2)

Sl
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247
=
2) 8+§§>g_g“
e

.

3) 6x5-2x3
=
:ZH

4) Ix5-3x4+9
25-121%4
2244

, :32;

5) 12x3+4x9-15
2030 s
LS
:§7

6) 1x6-15+3
-
-

7) 8-4+2
i

8) 8x3+(10+2)
e
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9) 4x16+2-10+4
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Math 9

1) -5+4+2
-5 42
-
2) 7x10-4+33
o 91y
66 133
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3) 3x3+3x-3
4609)
o

4 9(8+2)+7
C‘(lc\) t
Yot ]

5) _s;_izuz_g;—-l
-2 41—

-~
= L{

6) 44-2x6

Gy-12

7 (—1@)+3+4
2

o
=

Chapter 1—Order of Operations—Worksheet # 2

8) 2-3x5x2+6
N e
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9) 11-(4+6)x-3
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Math 9 Chapter 1—Order of Operations— Worksheet # 2
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Math9 ,
Rational Numbers Intro

1. Categorize the following numbers as being Natural, Whole, Integer, or Rational with a
check mark. () (a number can belong to more than one group)

_——
_—_

- :
. ldentify the ratlona! numbers lndlcated on the number line. (f ach dash (s Y )

’)/8’ = Vg~

A 5 i

3. Reduce the following rational numbers into lowest terms:
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3 < 21 -
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4. Convert the following improper fractions to mixed fractions:

1l 52 2 1z .=
s 523 o T S

5. Convert the following mixed fractions to improper fractions:

. . . .
> b g 7 i



. Convert the following rational numbers into decimal form. Show as repeating decimals if
necessary.

3 21 . 11

- = ..
5 - 0] .

. Convert thke following decimals into rational numbers, in lowestterms:‘

3.5 . 03 ~ .1.003 ‘ 0.7 y
_ 2| . -
. - fee3 =
' /OU ; /,OOO C(

. Re-order the following rational numbers from smallest to largest:
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. Use <, >, or = to make each statement true

‘ 3 7 .
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. 3 s .
d)1.6 < 1:1— e) —2-8— - H 14 7 5
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Math 9

Adding and Subtracting Fractions

1. Simplify
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2. Simplify
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4. Simplify.
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5. Simplify
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Math 9
Rational Numbers---Multiply and Divide

1. Simplify Completely
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PRAG £ 4 Name:
Fractions - Order of Operations Z
7 1
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